
The Cattell-Weiss intelligence test will measure your "fluid" intelligence.  This non-verbal test was designed for children of 8 ½ to 19 years, as well as adults from 20 to 70 years.  Scores are calculated on a different scale according to age.  

It is composed of two large similar parts, each containing four groups of individual tests: series, classifications, matrices, as well as topologies.  In every group of tests, the easy items are in the beginning and the most difficult at the end.  It is rare that someone succeeds in completing every exercise, nevertheless try to solve as many as possible.  If you are not sure of your answer, it is better to choose the answer that appears to be the best rather than not responding.  

Attention, every exercise has only one correct answer and every test has a time limit!  On the other hand you have all the time you need for the examples.  At the end of the test you will be given your score and  corresponding IQ.  

Good luck to you!  
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Dans cet exemple, "a" est la bonne solution.

Deuxieme et troisi¢me exemple:

Pour chaque ligne, il faut donc toujours chisir une des 5 figures
a, b, ¢, d ou e qui se trouvent & droite et qui compléte la série
de gauche. Dans les 12 prochaines tdches, un espace sera prévu
pour y inscrire la lettre correspondant & la bonne figure.




First example of test 1:

In this example, “a” is the correct answer.  

Second and third example:

For every line, it is necessary to choose one of the 5 figures (a, b, c, d or e) that are located to right and that completes the series on the left.  For the next 12 items, enter the letter corresponding to the correct figure.  

[image: image2.jpg]Inscrivez ici la lettre correspondant & la bonne réponse, puis cliquez sur “enter':




Enter the letter corresponding to the correct answer, then click on “enter”:

[image: image3.jpg]Vous venez de finir le premier test de la premiére partie.
Il est temps de poursuivre avec le test 21




You have just finished the first test of part one.  It is time to advance to test 2!  
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Au premier exemple, d est la bonne réponse.
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Dans la ligne vous devez donc trouver laquelle des 5 figures ne
correspond pas aux 4 autres figures. Il y a cette fois-ci 14
exercices & résoudre de cette maniére.
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First example of test 2

For the first example, d is the correct answer.  

Second example:

In the line find which of the 5 figures does not correspond to the other 4 figures.  

There are 14 items to solve in this manner.  

[image: image5.png]Vous venez de finir le test 2 de la premiére partie.
Voici maintenant le test 31




You have just finished test 2 of part one.  Here now is test 3!
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Dans le premier exemple, ¢ est la solution correcte.

Deuxieme et froisi¢me exemple:

II faut & nouveau choisir I'image qui corresponde le mieux pour
compléter le pattern de gauche. Ce test est composé de 12 tdches
& résoudre de la méme maniére. Vous devez toujours inscrire la
lettre correspondant d la bonne réponse dans I'espace prévu pour.




First example of test 3
In the first example, c is the correct answer.  

Second and third example:

It is necessary again to choose the picture that corresponds with the completion of the pattern on the left.  

This test is composed of 12 items to be solved in the same manner.  You must enter the letter corresponding to the correct answer.  

[image: image7.jpg]Vous avez fini le test 3 de la premiére partie.
Vous pouvez passer au test 4!




You finished test 3 of part one.  You can advance to test 4!  

[image: image8.jpg]Premier exemple du test 4:
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Ici, ¢ est la bonne réponse car on peut placer le point uniquement dans
ce cercle sans qu'il soit dans le carré en méme temps.
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Deuxiéme et froisi¢me exemples:
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Dans chacun des 8 exercices vous devrez donc chercher ol le point se
trouve sur la premiére figure puis trouver dans laquelle des 5 figures
le point pourrait se trouver dans la méme situation.





First example of test 4:

Here, c is the correct answer because one can place the point only in the circle without it being in the square at the same time.  

Second and third example:

In each of the 8 items you will have to look for where the point is located on the first figure then find in which of the 5 figures the point could be in the same position.  

[image: image9.jpg]Vous venez de finir la premiére partie du test et
vous avez déja fait la moitié |

Mais avant de pouvoir connditre votre score, vous
devez encore faire la deuxieme partie des taches.
Le principe reste le méme, alors allez-y gaiement!




You have just finished part one of the test and you have already finished half of the entire test!  

But before your score is revealed, you must complete the second part of the exercises.  

The principle remains the same, Good luck!  
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SECOND PART

First example of test 1:

Second example:

Third example:

[image: image11.jpg]Vous avez fini le premier test de la deuxiéme partie.
Continuez avec le test 21




You finished the first test of second part.  Continue to test 2!  
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examples of test 2:

[image: image13.jpg]Vous avez fini le test 2 de la deuxiéme partie.
Passez au test 31




You finished test 2 of the second part.  Go to test 3!  
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Examples of test 3:

[image: image15.jpg]Vous venez de finir le test 3 de la deuxiéme partie.
Courage, il ne vous reste plus qu'un testllll




You have just finished test 3 of the second part.  Courage, you only have one more test!!!  
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examples of test 4

[image: image17.jpg]Vous voila arrivé a la fin de ce test d'infelligence.

Pour connaftre votre score final veuillez cliquer ici:




You have arrived at the end of this intelligence test.  

For your final score click here:
[image: image18.jpg]Mémorisez ce score, puis cliquez sur le bouton
correspondant & votre dge: Si vous avez entre.





Memorize this score, then click on the button corresponding to your age: If you are between...  
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You are between 40 and 49 years.  Match your score to the IQ.  

[image: image20.jpg]Merci beaucoup d'avoir participel




Thank you for participating!  

This score may be a few points low due to several illegible items. 

